
One potential tenderer asked: 

 

1. We are concerning about our correct meaning of term contract works used in relation 

with carry out percentage in: 

 

If it is the lead member of a joint venture/consortium it must be able to carry out at 

least 50% of the contract works using its own means. 

 

If it is a partner of a joint venture/consortium (i.e. not the lead member) it must be 

able to carry out at least 10% of the contract works using its own means. 

 

 

Question: 

 

Percentages 50% and 10% are applied to total amount of contract (which is 100%) or 

is applied to part contracted work by each member (lead or partner)? 

 

 

 

Banat River Basin Administration reply: 

 

If he is the main partner he has to have 50% of the contracted part, if he is not the main 

partner he has to have 10% of the contracted part. 

 

 

 

 

 


